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mMore examplvs

Ex LinD THE £QuAatidnusS oF THE TANGENT LINE AND nORWMA L
LwWE T THE CURWE C0N= coa (3% ar T4 & PoinT

[“_ p—
URERE X =g f_}{e L ()= cosRR)
) 3 Q>=cosclgq>’élR
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RECALL: to find the equation of a tar?gent ineatx=a ,

1) find the slope of that line by taking the derivative (since
the derivative is the slope of the tangent line!!)

2) plug the x-value of the point given into the derivative to find
the gradient (m=slope).

3) use point slope to find equation A-g, = m (X =%

Lor nermal \ime,) YaKe -

‘?l(xﬁz 310 (3xX3) = =3 21n (3x)
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Some _tnore examples 5
End the denvative o€
Q) Q()() = Lé:‘-JQag‘\' 3‘\1\(3 >(‘|"a>

X + )(3>
()= Ye™(e) + cos(BX¥a
g ): %e;f‘ + Bcos (3x+D)

5) 0" Sinx cocock RU@

J .
. ° S (cosw) + X 3im (x)

+ and.
(rodve s Power

(3
Y= cosx)eos k) + 3(503%&(-31{)0)\3{@)
= 08 76) ~ 3 a3 &) o $7¢x)

9 Y = cosLYSIW)
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